GENERAL KNOWLEDGFE

Ol Varghese Kurien was named the
Chairman of the National Duairy
Development Board (NDDRB) by

(A) Lal Bahadur Shastri
B) Gulzarilal Nanda
Indira Gandhi
(D) VV Giri

How many parts does the Indian

Q2
Constitution currently have?
(A) 15 (B) 20
(D) 30

@25

Q3 The Mughal emperor Jahangir built the
Shalimar Garden in
(A) Delhi
(C) Oudh

(B) Baluchistan

K ashmir

Q4 Theannual Indian Classical music festival
Sawai Gandharva Bhimsen Mahotsav 1S

T0as6d

held in Z
@ Pune (B) Mysuru
(C) Kanpur (D) Udaipur

Q5  Which among the following is the oldest
public sector bank in India?
(A) Bank of India
B) Bank of Baroda
@ Allahabad Bank
(D) UCO Bank

Q6 Vedic civilisation flourished along the

river ;
(A) Godavari (B) Cauvery
(C) Krishna Saraswati

#
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Q7

Which international organisation was Q7

SelrE 1944 ¥ wgar Wi WA 9 Wiem
conceived in July 1944 at the United

Y B9 anisha d@ired @ FEE A

70dsed

Nations Bretton Woods Conference?
(A) World Trade Organization
(B) United Nations International
Children’s Emergency Fund
(UNICEF)
(C) World Bank

International Monetary Fund

India’s firstengine-less speed train, Train-

T A?
(A) Rvq @mw w@eA ‘

(B) s v, arer Y ()
(C) fava &

(D) sieRRrsira ge1 o

Ql

70dS6d

. e 2
Q8 wa @ wEeh gom— TR :
18 was developed by the 718, e P Bad g
Intergral Coach Factory. frepfra @ g 24\ "
(A) Chittaranjan  (B) Patiala (A) FerRe (
Chennai (D) Kapurthala (C) =g (D) T
. : QAT d
Q9 Indiasigned a$500 million deal withwhich ~ Q9  ~Tdax 2018 ¥ ¥R ; ;ﬁ;ﬂ ‘;‘:
country in November 2018 to locally 500 ﬁf?ﬂﬁ Slei o Eﬂ!ill&l!
manufacture two stealth frigates? ¥ fored I sl ; R
(A) The United States of America gz—q’_tﬁ? o1 bl
Russia (A) :iaﬁ s T
(C) Israel (B)
(D) Japan (C) ForEd
(D) WA
TP FHTH
Q10 The Sardar Vallabhbhai Patel National Q10 m;m fimt;%a ﬂ@; gf%mqm —
Police Academy (SVPNPA) is located near (@ANeAHT)
(A) TERER (B) gﬁt
((A) Hyderabad ~ (B) Pune (©) e (D) W&
(C) Bhopal (D) Chandigarh
| e ARd o o e
Qi1 The assembly of which Indian statc was Qi 2018 A m - T
dissolved in November 20187 “:T LA i -
(A) Himachal Pradesh (A) %ﬂfﬂﬂ_w
Jammu and Kashmir ﬂ?:) e :
(C) Uttarakhand tD)) W
(D) Punjdb qiTe

Q12 Hem D :‘hﬁqﬂiﬂm'
(A) TR P (B) ami e
(C) ey afdi (D) amai aft

Q12 The aorta begins at the top of the ;
(A) right ventricle (B) left ventricle

(C) right atrium |eﬁ atrium

AW W —
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QI3 Galvanising means covering steel with a

Q14

thin layerof
(A) Chromium
(C) Aluminium

Zinc |

(D) Nickel |

C60 is a molecule that consists of 60
carbon atoms, arranged as
(A) 15 pentagons and 18 hexagons
(B) 18 pentagons and 15 hexagons
12 pentagons and 20 hexagons
(D) 20 pentagons and 12 hexagons

Q15 The best-quality hard coal that contains

80% to 95% carbon is
(A) peat (B) lignite

(C) bituminous nthracite

Q16 All of the following are condensation

Q17 Indian Insti

QI8

polymers EXCEPT
@polycster
polyamide
tute of Technology, Kanpur,

has set up an office in with
anjiv Khosla designated asthe
dor of the

(B) polypropylene
(D) polycarbonate

alumnus S
overseas brand ambassa

institute.
© (B) London
@ New York

(A) Dubai
(C) Singapore
The Physical Efficiency Test for
recruitment of constable civil police by
Uttar Pradesh Police Recruitment and
Promotion Board requires male
candidates to run g

4.8 km in 25 minutes
(B) 3.8 km'in 25 minutes
(C) 4.8kmin 35 minutes

(D) 3.8kmin 35 minutes

CLDICS N
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QI8
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Q19 Who was sworn in as the

Govemor of
Uttar Pradesh on 22nd July, 20 147

(A) Surya Pratap Shahi

(B) Brijesh Pathak

@ Ram Naik

(D) Ashutosh Tandon

Q20 Which Uttar Pradesh district is also known

Q21

Q22

Q23

Q24

as ‘Pital Nagari’?
(A) Fatehpur
(B) Muzaffarnagar

Mirzapur
Moradabad

At the battle of Bahadurpur in 1658, Shah
Jahan's second son Shah Shuja was

defeated by Shah Jahan’s grandson .

(A) Murad Baksh

(B) Sulaiman Shikoh
(C) Alam Shah
(D) Bahadur Shah

Firozabad has been producing
for more than 200 years.

(A) chikankari works

glass bangles

(C) brass locks
(D) zardozi embroidery

Which Kathak gharana focuses more on
the spiritual aspects of the dance form?

(A) Jaipur
(B) Banaras
Lucknow

(D) Bareilly

According t0 Hindu legend, the divine
king Rama of the Ramayana epic reigned
in Ayodhya, the capital of -

(A) Hastinapur

(B) Kuru

C) Kalinga
@A Kosala

SERIES-D
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Q25 Which Indian has won the Nobel
Memorial Prize in Economics?
C.V.Raman
(B) Amartya Sen
(C) Kailash Satyarthi
(D) Har Gobind Khorana

What is the title of the autdbiography
written by Indian boxer M.C. Mary Kom?
(A) Playingto Win

Unbrcakable
(C) No Holding Back
(D) Imperfect

Q26

Which film won the Best Popular Film
award atthe 65 th National Film Awards?
Baahubali 2: The Conclusion

(B) Secrct Superstar

(C) Jolly LLB 2

(D) Hindi Mcdium

Q27

Q28 The 2018 Nobel Prize for Economic

0Aased

Q29

Q30

awarded to william D.
Romer, both of

Sciences was
Nordhaus and Paul M.

vhom are from .
‘E) United States of America
!' ) United Kingdom

(C) Canada <
(D) Austraila

is the fraudulent act
private and sensitive

of acquiring
has creditcard numbers,

information, SU¢
pcrsonal identification,

usernames and passwords.
(A) Malware (B) Trojan

(C) Hacking Phishing

The Chitrakote Falls are sitGated in which

state of India?
A) Jharkhand (B) Uttarakhand
@Chhamsgarh (D) Meghalaya

SERIES-D
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Q27

Q28
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Q30
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(B) aped P
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Q31 Capital city of Venezuela is

(B) San Salvador

(A) Nicosia
(C) Quito @ Caracns
Q32 India has the world’s largest reserves of
which of the following radioactive metals?
Uranium (B) Radium
(C) Bismith (D) Thorium
Q33 Name the only island state of Australia.
(A) Capri (B) lbiza
@ Tasmania (D) Rhodes

Q34 Which of the following cities is NOT

situated on the banks of the Godavari river?
(A) Nashik (B) Navsari
@ Nanded (D) Nizamabad

Q35 Who became the President of India after

Q36

Q37

Q38

the tenure of Neelam Sanjiva Reddy?
(A) Fakhruddin Ali Ahmed
(B) Varahagiri Venkata Giri
Giani Zail Singh
(D) Mohammad Hidayatullah

Name Chandragupta’s son, who reigned
between 298-272 BC and extended the
empire throughtout the whole of India.
(A) Harshavardhan

(B) Aniruddha

@Bindusara

(D) Vasudeva

The traditional dress worn by the women

of is called Mekhela Chador.
(A) Gujarat (B) Tamil Nadu
(C) Goa (D) Assam

Rabindra Nath Tagore wrote the National
Anthem of which of the following

countries?
(A) China
(C) Bhutan

(B) Myanmar

@ Bangladesh
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Q39

Q42

Q43

Q44

Q45

The Salleg 4

- ~digit Numbey
[RET Jdivideg

(A) 4
©) 6

divisible by

the CMaindey
B) 5

8

Y16, "'ind

The square roat of 6,561 isca\cula\ed. This
number is divideq by i

1S own Square
Find the result s
(A) 3 (®) 9
<) 27

The diameter of 5 circle is doubled. By
how much does the area increase?
(A) 2 times

4 times
(C) 8times

(D) 16 times

X has a balance of X86.54 in the bank
account. What will be the balance after g
deposit of T55.31 and a withdrawal of

T84.33 are made?
258.52

(A) 257.52
(C) 35758 (D) 358.58

L

A number is multiplied by 3,003 and then
divided by the LCM of 7, 11 and 13 and
then divided by itself. Find the result,
(A) 1 (B) 2

©) 3 4

IF(10x +5) : (42x + 8) is the triplicate ratio
forS: 8, find x°.

(A) 1,000 "33'7
o h (D) 2,19

Find a quarter of 40% of the square of 40.
(A) 120 (B) 140

@ 160 (D) 180

NllMI'lllI('AI,ABII,I'I'Y

Q3913 Frnfores 899 areh vy )
A B 16 N Rl
T ST |
(A) 4
@) 6

33y
MWB:
(B) 5
(D) 8

Q2 X ¥& @y 3 ¥86.54 1 W 2,755

mmaﬁusmsﬁﬁm%m
¥ @ gniy

(%) 357.52

(B) 2585
(C) 357.58

(D) 258.58

Q43 & HEm &1 3,008 ¥ Tor e T Al
P T I 7, 11 M 13 B AW
s g e Rea man atw
i ¥ frf fran | oRom
Eadl
(A) 1
©) 3

(B) 2
(D) 4

Qi TR (10x+5): (42x+8), 5: 830 KT
atﬂqﬁ %. T:“ X ﬁ\
(A) 1000 (B) 1331
© 11 0297

Q45 HFBTMD 40% T ARITE AT T DY

140
A) 120 (B
ie)) 160 LR

oET N
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the selling price is tripled. the profit goes

Q46 If!
up to 5 times. Find the profit.
(A) 80% @) 100%
(C) 125% (D) 150%

900. He spends

X buys a scooter for 42,
he scooter for

26,000 on repairs and sellst
754,000. What is his gain?

(A) 10% 12.5%
(©) 15% (D) 17.5%

Q47

10was sold for

Q48 Am afticle costing T
ffered?

Z104.5. How much discoustt was 0
(A) 4% @) 5%
(C) 6% (D) 7%

Q49 A sum of moncy invested at compound
interest amounts to Z1,600 in 2 years and
71,680 in 3 years. Find the rate of interest.

(A) 5%
(B) 6%
(©) 5.5%
(D) 6.5%

204864

ow much will 725,000 invested at

Qs0 H
compound interest amount to in 1 year at

4% per annum com
(A) 725,980

| @&6, 100
Q51 Abegana business with 275,000, B joins
. - after sometime with £37,500. After how

d B join if the profits are
end of

pounded half yearly?
(B) 326,010
(D) %26,001

*"~'many months di
shared in the ratio of 3 : | at the

the year?
(A) 4
@ 6
Q52 The marks of student were entered as
88 instead of 68. Due to this, the average
marks of the class increased by 0.5. What
is the number of students in the class?
(A) 10 (B) 20
@ 30 (D) 40

. W

(B) 5
(D) 7

gl fapal I, o @™

046 Uld fagh et A
| e S e |

Gl g onen &

(A) 80% (B) 100%
(©) 125% (D) 150%

Q47 X7 42,000 % TP TR @i & | T8
mﬁq‘\'%.oaoa‘rim?amw
7 254,000 # =T 2| SEEHT o™ T
2? _
(A) 10% g 12.5%
(C) 15% (D) 17.5%

Q48 110 @M arelt U %G 7104.5 3% 40
a3 | Rt gg A T e
(A) 4% ) 5%
(C) 6% (D) 7%

Q49 awq%mwﬁﬁﬂ%qwmiﬁ

vﬁrzau‘iﬁﬂ,soom 3. a7 #§ X1,680
g g 2| e W) T o d
(K 5% ;
(B) 6%

(C) 5.5%

(D) 6.5%

gty @ A 725,000 &1 AR
1?6!?31%4%,@?1‘?3?!3!1\
g feat € sredi? @ )

(A) 325,980 (B) 326,010

(C) 326,100 (D) 226,001

-
e

Q50

Q51 A H #75,000 & WJ TP HRER T
-'-ﬁm:Bajawasmam,oooasm
wﬁwﬁag&mzﬁaﬁzﬁsﬁﬁsn
$$§Wﬁmwﬁmmaa’m
foper FER aTE At gl o
(A) 4 (B) 5
© 6 (D) 7

Q52 Qfﬁwa‘?aizﬁasa‘,aﬁmw?:mﬁ
zﬁm.wa|gnmm,m$m
aid 0.5 W g Y | BEN # B! P WS

w87
(A) 10 (B) 20
(©) 30 (D) 40
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QS3 Ais twice as efficient as B, who is thrice

as efficient as C. If C alone ¢ca
. san complete
the task in 30 days, then in how many days
n they together complete the task?
3 (B) 4
© 5 (D) 6

o

Q54 An acroplane covers a certain distance at

Q55

Q56 The ratio of the

Q57

R GR

@4

a speed of 250 km/h in 4 hours. To cover
the same distance in 1 hour and 40
minutes, what should be its speed?

(A) 500 km/h (B) 550 km/h
@ 600 km/h (D) 675 km/h

Excluding stoppages. a bus covers 45km
in an hour, and including stoppages, it
covers 36 km. For how many minutes does
the bus stop in an hour?

(A) 10 (B) 10.8 -

@ 12 (D) 12.5

length and breadth of a
rectangleis 5:6 and its area is 6,750 cm’.
Find the ratio of the length to the area of
the rectangle.

(A) 1:80 - (B) 1:84

(C) 1:100 @1:90 |

Find the product of the sum of digits ef
ber divisible:by 1 1

the smallest 4-digitnum
and the sum of the digit
digit number divisible by 13.
(B) 2
(D) 6

s of smallest 4-

Q53

Q54

Q55

Q56

Q57

: azw%-quw‘»a’cas
- 36 kmTa #R I ARG

A, B R g e 8, she B, C & R
w8 | ufz v C o @ 30 Rt A
R B Haoar §, @ 4 o wm e
gmﬂmﬁﬂwmm
A3

©) 5

(B) 4
(D) 6

o &ad e 250 km/h B TR F 4
e 3 v Piftad @ o T 811 R
a0 Bz & SO T A wa T S R
SES TRy @ B =fEe?

(A) 500km/h.-.>.-.(B) 550 km/h .-
LY 600Kkm/h. ey (D) 675 km/h
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Qss fw S | 7 S
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Q58 Which of the following series is built on
the same logic as - am fre
G 1K MO G KM O
X.Z.B.D. F B) X. v.B.D. E AN) x.7.B.D.F B) XY B,D,E
© P.S. U.V.W (D) K. L.N, Q.S (€) S U Vv, W () K. LN QS
Q59 Fill the missing value in this serics: Q59 ¥ J # ga |7 e Y
AIC, E4H. I9M, MI6R, AIC, E4H, oM, MI6R. _—
A) 125K (B) Q25W (A) 125K ®) Q5W
M36J (D) Q36X (c) M36] (D) Q36X
\ Q60 Which pair in the options will complete Q0 T T 3 g g fyeferrRaT AT
the following series: ] e
4 A.EK o ARE, ol
A QY ®) Q.Z (A) QY @) QZ
©PRY (D) P.Z () BY PZ
Q61 Four friends live in a locality- Ashouseis Q6! R e gD A G EIAPT B
o the west of B. B’s hous® is to the south & ofyem i BAR ca <R A
of C and C’s house is to the east of D. In CHWDD @A e D& BT =R &
which direction 13 B’s house as to D? fram ¥ &7
2 (A) North-East (B South-East (A) ST (B} <R
g (C) North-West (D) South-West (€) sae—ufy@m (D) TfdroT—
~
Q62 Y walked 6 m west, turned right and Q62 Y.6 m afgem 7 =l 2 gel AN I
walked 8 m. What is the shortest distance g m 9| I qroomdt g W I
he needs to travel to go back to his starting o @ ferg sad A B & [ad
point? S g8 @ &7
(A) 6m (B) 8m (A) 6m (B) 8m
(C) 14m @lOm (C) 14m (/m 10m
Q63 VillageAisto the west of village B which Q63 Tid A, A B & ufyes ¥ &, O T (o
is to the south of Village C which is tothe =foyor 3 &, S T D qf¥gw A & | M
west of Village D- If what direction is p @ amE Ta A ¥R
illage A as to village D? (A) SITR- (B) —qd
North-East  (B) South-East (€) sae—afrad (D) Zfyr—ufe
©) North-West (D) South-West
X walked 15 m south, turned left 15 M Q64 X, 15km af@mﬁam,mgaram 15
and tumned left and walked for 15 m. How m e 3R aTE FST aire amit 15m =}
far and in which direction is he from the g eI Rufy & el ® afw f@d
starting position? faem A &7
(A) 15m north 15m east (A) 15m 9 (,é) lSmt@
(C) 15m south (D) 15m west (C) 15m zfor (D) 15m uf¥=A
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Q65 In the question one statement is given,
followed by two conclusions- | and II.
You have to consider the stmtement 1o be
true even if It SEems 1o be at varianee from
commonly known facts. You have to
decide which of'the given conclusions, if
any, follows from the given statements.

Statement | : No country is absolutely
self-dependent these days.

Conclusion I: It is impossible to grow and
produce all that a country needs.
Conclusion II: Countrymen in general
have become lazy.

(A) Only conclusion I follows

(B) Only conclusion I1 follows

(C) Both [ and II follow

@Neither I nor I follows

Q66 In the question one statement is given,

followed by two arguments, | and 2. You
have to consider the statement to be true
even if it seems to be at variance from
commonly known facts. You have to
decide which of the given arguments, if
any, supports the given statements.

Statement : Should new big industries be
started in Delhi?
Arguments |: No., it will add to the city’s

pollution

Arguments 2: Yes, it will provide

- employmentopportunities.

(A) Only arguments 1 is strong
(B) Only arguments 2 is strong
(C))Both arguments 1 and 2 are strong
(D) Neither arguments | nor 2 is strong

SERIES-D
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g 1: 99 @ i 1 fAasfaa A
iR Seared B o 8, R 2
T gl gt 2

frspd 11 oA AR TR Lear T &
g &)

(A) Baa Frepd 1 aeReT Hear 8

(B) Baet Fen 11 ArER0T B €
(C) 13} 11 ST e HRar §

(D) 7 T 13K A @ 11 FFER e

we 3 T T GIR SHS a1E Q1 T, |
alR 2 Rr v ¥ MU g9 T B
e WA 2, e € 9§ A dR W
< e & arerT wdl exar & | 3N
78 T e & 5 Ry g et A |
F o, are o €, Ry 1T FA

IR R B | :

B - T e § U 99 ST IO
fpe @ anfae?

o 1: 78], T T B W ¥ T
B |
ad 2 : €, T8 NMR & IEER T

(B) Fa0 T 2 TG €
@) 7@ 13R 2 3t wogd 8
(D) 71 A o 130R 7 & T 270 ¥
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Q67 In the question two statements are given
followed by three conclusions, I, Il and
111. You have to consider the statement to
be true even if it seems to be at varinnce
from commonly known facts. You have to

/ decide which of the given conclusions, if
any, supports the given statements.

Statement |: Many business offices are
locared in buildings having 2 to 8 floors.
Statement 2 : If a bpilding hqs more than

3 floors, it has_a:liﬁ.

Conclusion I: All floors maybe mchﬁ by
lifts. A
Conclusion II: Only floors above the 3rd

floors have lifts
Conclusion IlI: 7th floors have Inﬁs

(A) Onlyconclusion I follows
@ Only conclusion II follows
(C) Only conclusion III. follows

(D) All3 follow

Whlch of the words CANNOT be formed
by “the letter’s of the word
“FLAMBOYANT™?

(A) Lamb Bout

(C) Moan . (D) Boat

.“Which of the following words has its letters”

in an alphabetical order? ’

(A) Shade (B)- Heart
Billow (D) Charge

70 Select the related word from the given

alternatives.

Deer : Fawn :: Horse : ?
Lamb (B) Foal

(C) Calf “(D) Toad

wen

Q67 wwet o QY wue AN Ias arg A e,
I 11 afe 11 e g B a9l §9 TYH
o wea A gy, @ 6§ T8 3m AR
gy g ezt @ ore g grem )
3y ae oy e 8 & Ry T et
3} I freed, af2 o ¢, e

FY BT FTAV FY B

DU 1- PE AGANAS FATGA 24 8

wfora are waAl ¥ fera 2

o 2: Afe 6 wa= % 3 e € oy

gud foge a1 21

Pred [ it wforal W foreel g ogar

T HpaT & |

frepd II : daa dM wfoel B S

arell wforet % ferge &1
fPreed 1 : 7 & wiforalt § e &)

(A) daa Frepd [ argavor ava @

(B) daa fspd 11 ITEROT TN &
(C) dael FAspd 111 FTHIT Fxem &

(D) T AR B &

Q68 “FLAMBOYANT” ¥Isd & MRl GRI B
¥ T BT TS TE AT o waar 87

(BY Bout

(A) Lamb
(D) Boat

(C) Moan

Q69 -fa=feiRaa ol # ¥ fre w1 @ AeR’

Ul quinTen HIGER 87
(A) Shade . (B) Heart
(©) Billow (D) Charge

Q70 fiu Ty Rl ¥ & wWalda @ gFul

fRRor : g B = HreT - ?
(AY AFT (B) quel
(C) s8I (D) WIgY

-

e . -
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Q71

Each on e 1 i
g irse:?rfhg following options consists
pairs of words. Choose the best pair t
. 2 X !
match with the pair in the question
Run : Walk .
(A) Heavy Rain: Drizzle
(B) Jog : Run
(C) Dive: Swim
Bounce : Gallop

Select the related letters from the given
alternatives.

EH: VS :MJ:?
(A) OQ

(C) M

Q72

(B) NR
@ne

Find the alternative that can be a member
of the given group/class.

Lock, Block, Fasten

(A) Open (B) Window

(C) Shut _ (@) Door

Q74 Findthe missirig Number:
. 4,27,256,

3,125 ‘
() 720

Q75 Find the missing pum
the series and find the value of Y+X:

Q73

(B) 625
(D) 2,500

20, 22, 24, 26, X, 32, 36, Y
(A) 62 (B) 64
(C) 66 @ 68

Q76 Find the pair of the numbers that would

fit into the patterm: .
1 1,121,1331,14641,?

(A) 161051 161050
(C) 160051 (D) 160050

s b
(B ]

bers (X and Y) in

O vatutaaa famen a o
\gt‘: Ry ny 8 gy q‘:(:qmn‘t‘zm#
A &\ @ My waty o .
g;‘“ s vy
HOTAT © FAN
o) Y At gE 7
(B) Sifw : s

Q2 fw iy Rwwd 3 # WO wew
EH:VS::MJ:?'j
(A) 0Q gy NR
QM D) NQ

Q73 I¥ e N @ N
. g /9 e €@

e, b, HET T
wgar - B Rerga
€) == ®) &K
Q74 @ Al oa P
1,4,27,256, __
(A 3,125 (B) 625
(C) 720 (D) 2,500

Q18 mﬁ@wﬁ(xam{)mﬁ

et Y+X @ AF wa
20,22,24,26,%,32.36.Y .
(A) 62 (B) 64
(C) 66 (D) 68

Q76 -ﬂ@ﬁﬁaﬁaﬁﬁﬂ@wﬂﬁﬂ’iﬂﬁi.a

{1,121,1331,146 a1,?

(A) 161051 y 161050
(C) 160051 (D) 160 050

8 )

<
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Mental Aptitude, IQ & Reasoning Ability

Q77 A series is given, with one term missin
sing. Q77 A wE AN ¥ & v
g« 81 Ry g

Choose the correct option from the given farareat A Ty
_ ) QA
ones that will complete the series. o g ihiillgt?lﬂ i b
ZBA. YDC. XFE, WHG, V1, ? ZBA,YDC, XFE, WHG, V1), ?
(g) KLl:l (B) HI (A) KLU (B) HIJ =
(C) URS @ ULK (C) URS (P) ULK
Q78 A series is given, with one term missing, Q78 A W AR W tw ug g 21 Ry
Choose the correct option from the given fawaat 4 | sfoa fawe gﬁ; o ’;‘gt
ones that will complete the series. P oy &l B
EEEEEFFFFF, FEEEEFFFFE, EEEEEFFFFF, FEEEEFFFFE,
FFEEEFFFEE, FFFEEFFEEE FFEEEFFFEE, FFFEEFFEEE
FFFFEFEEEE, ? F FFFEFEEEE, ?
(A) ::::::FEEEE (B) EFFFFEEEEF (A) FFFFEEEE (B) EFFFFEEEEF
(C) FFFFFEEEEE (D) FFFEFEFEEE () FFFFFEEEEE (D) FFFEFEFEEE

Q79 A series is given, with one number missing, Q79 A 7 AN F T wew @ 2| Iy My
Choose the correct option from the given fpoal 3 9§ oftm Ree gfg S Ao

ones that will complete the series. &1 qof o €11
48.26,4.7,7:3) 45, 36,007,231
(A) 14 12 @ 14 4BY 12
©) 1 ) 1.6 ©) 1 (D) 16
Q80 Ifthe 4th day of a month is Sunday, which Q80 Tl frell HEF &1 e fem faEw 2.
of the following would be the 6th day @ frefaRaa 1 & @ fF @ =W
before the 30th day of that month? & S 29 & Tea & vl A e
(A) Sunday (B) Tuesday (A) dfaar (B) WTETAR
(Qy AR (D) gerar .

(© sawrday (D) Friday
Q81 T AT f 12 3, foremt o g g ¢

Q81 A series is given, with one term missing. 3,
Choose the correct option from the given fav ¢ Rl # ¥ Sfid fde g
ones that will complete the series. Aoft @1 qof AN |

Al1Z1,X3C3, E3V4, T9G7,?

A1Z1, X3C3, E3V4, T9GT,?
(A) H20RI1 (B) I27R11
@ 127812 (D) H20S12

(A) H20RIL  (B) 127R1I
() 127812 (D) H20812

Q82 In a code language, 817 means ‘cotton Q82 el @g HIN 7 817 & 3:;? § :c:tto:
makes thread’, 827 means ‘thread makes makes thread’gﬁ227 ?I;I ﬂéﬂ A %t f::ﬁ
. 4 |
cloth’ and 213 means ‘soft cotton cloth’. makes cloth 2
cotton cloth”. ‘soft’  forq e T T

Find the code for ‘soft’.
£X) 9 (B) 1

(A) 3 B) I
2 (D) 7 ) 2 (D) 7
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In a certain code SL
s - SLOB is wri
2% w
and I'ATI:, IS Wilten a4 2rlttcn us 4379
LOFT written in thy, 6BS. Naw is

Q83

(A) 7539 code?
@ 3728 (B) 5626
(D) 200

o84 If in acertain code language, 4+
‘', t-'represents f4 - + T Tepresen
and S -+ ¥ m?)mﬁcn‘b . 'y e " rcpreSEnts # L?
. Sents *~". Find out th +
1o the following question € answer
16 :8x4-2+1=92 )

(A) 22 (B) 27

O (D) 13

Q83 IfHOLIDAY is coded as E
how will SUM be coded asl;[ FAXY, then
PRJ (B) EHK
(C) LOR (D) SVY

.

Q86 If}A @ B means A is the son of

B, A# B meansA is the brother of B and if
A * B means A is the mother of B, then
what does X # Y @ Z * W mean, if Z has
2 sons and one daughter?

@ W is the sister of X

(B) Wis the brother of X

(C) W is the son of X

(D) W is the daughter of X

TOaS6d

P is the father of Q, P!Q

means P is the sister Qand P # Q means P
is the daughter of Q, then which of the
following shows that P is the husband of
S’s sister? "

%
(A) P"‘Q%R!S(B) P
©) P*Q!R%S@ P % Q"‘,R!S

dto L, “You are my fusband’s son-
»How is L related to K?

daughter of K

Q87 IfP% Q means

TR*S

K sai
in-law’s daughter.

L is the grand

Q88

OBY fanshl @z B, SLOB @ 4379 'z:"’"[

o & oy FATE @1 2685 feran

) gu ae ¥ LOPT 0 e ?
(A) 7539 (B) 5626

J2) 3728 (D) 209!

Q34 Mﬁm@ﬂmﬁw.'x'ﬂﬁﬂ“ﬂ
T B, 4, 40 Y ge e B,
§+|a W T % m ‘_!_;'._om
“Wmtlﬁwﬁmﬂmﬂm

I F |

16 .8x4-241=?
(A) 22 - (B) 27
«r 16 (D) 13

Q85 afe HOLIDAY ®' ELIFAXV & w9 #
ELE ﬁm ST &, T SUM

Q86 zrf%.A@Baﬂani%ﬁi A, B @ 4T 3.
A#Baﬂazﬁ%ﬁsA,Baﬁmé & 3R
- HﬁA‘Bﬂ&IﬁgﬁﬁA.B?ﬂﬂii?ﬁ
xw@z*wﬁmmﬁ%aﬁz*z
¥ iR @ T ¥
AT W, X g R
(B) W, X T 7§ &
©) W,X® T3 B
(D) W, X @

pynQ® I 3 & p, Q@ e &
P!Qaﬂswi%%?,oa"’lmim
ponma.wi%ﬁs pQ® TA B

az & ufer &7
%R!S(B)P%Q‘-R'S

Q87

A) P*Q
((cip*Q!R%seD’) p% Q*R!S
J 7e & Yy ofy ® TG
e ‘%ﬁa;g’rrL,Kﬁ?;ﬂﬂm%?
L,Ka%’l-—nﬁﬁ%
(B) L,Kﬁﬂ"ﬁ%
©) LK @1 T #
©) L.K 1 foa
SET-02
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Q92 The bar g, b

Q93

M Sh ;
VIsitors to g Muse Owyg t

'C Numper . , & = faf H &
the week, 1y, i fOr difyere. ST Of QU2 AR AR@ A @D

Saturday yoe ¢ "Mber f:f"f days of HUBTA 3 iy A Hlml.?ﬁ feare
visitors o 'lf:s less than ¢ & Wors o R ufrarR &) arigsl #1 wen oan
3 “"‘Sdu)r b » v A %
y S UMgE M wem A
d F9 o)

(A) 300 (B) 200

£y 60 (D) 50
Item A tg
15 hourskteos ;z hOLll‘s and ltem B takes Q93 wwe a9 Ty ITA TS ITEH A
machine Prepared using 4 jaghe AR B A 12 6 A ¥ AR argen
Drilling time for Ite ; BlSwe dh %

S ™ A is less tha _ .
e ———

Y % A TW |

(A) 25 (B) 66.67 45 55 —
D) 100 !
(6 2 &) (€) 3939 (D) 100
Q94 Which word does NOT belong with the Q94 @F}i glg‘:“m R ng w0
(A , :
others? 3
(C) Jog (D) Walk
' : faweul % | faww aR gl
Q95 Find the odd letters from the given - ,SS)TKM . ﬁ(B) EI:IC L
alternatives. (B) EDC (C) HG (D) SRQ
@" LKM
(©) HG (D) SRQ

SET-02
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Q92 The bar g, b

Q93

M Sh ;
VIsitors to g Muse Owyg t

'C Numper . , & = faf H &
the week, 1y, i fOr difyere. ST Of QU2 AR AR@ A @D

Saturday yoe ¢ "Mber f:f"f days of HUBTA 3 iy A Hlml.?ﬁ feare
visitors o 'lf:s less than ¢ & Wors o R ufrarR &) arigsl #1 wen oan
3 “"‘Sdu)r b » v A %
y S UMgE M wem A
d F9 o)

(A) 300 (B) 200

£y 60 (D) 50
Item A tg
15 hourskteos ;z hOLll‘s and ltem B takes Q93 wwe a9 Ty ITA TS ITEH A
machine Prepared using 4 jaghe AR B A 12 6 A ¥ AR argen
Drilling time for Ite ; BlSwe dh %

S ™ A is less tha _ .
e ———

Y % A TW |

(A) 25 (B) 66.67 45 55 —
D) 100 !
(6 2 &) (€) 3939 (D) 100
Q94 Which word does NOT belong with the Q94 @F}i glg‘:“m R ng w0
(A , :
others? 3
(C) Jog (D) Walk
' : faweul % | faww aR gl
Q95 Find the odd letters from the given - ,SS)TKM . ﬁ(B) EI:IC L
alternatives. (B) EDC (C) HG (D) SRQ
@" LKM
(©) HG (D) SRQ

SET-02
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096 T g @ g o e g

Q96 Choose the figure which is different from

the rest. arer B
gme ) e 0 e DO e

= ORONO!

(A) B O e od ORORO
coel 0O W ispel® loee
00 (ORONS) oe D ONONS)

@GGG(D)CD(DG (C)eee(mmme
CD@OI 006 o6 0 eoes

Q97 Choosethe figure which is different from

the rest. e B
Ha Y| (xQ¥ Hav| (xQY
N I X Z SH
.(A) (B) N1 X ZSH
os z| [NO ®los z|” |NO
XTz|l |[@sX XTZ Qs X
(C)NQSYON o |NQS|g|YON
HYO | HZ HYO I HZ
Q98 Se.lect the related word from the given Q98 fau v RAmel | wata Te| B 9dd
alternatives. cad
Gun : Bullets :: Torch : ? qgd ¢ Treh s e c 7
A) Fire | (A) AT
Batteries ('B)QE‘?I
(C) Darkness (C) PR
(D) Candle (D)

ven Q99 ﬁmwﬁmﬂqﬁamaﬁ?

Q99 Select the related number from the gi
125.3 : 5 :: 14641 4:?

alternatives.
125.3:5:: 14641.4:7 A) 11
(A) 11 (B) 6
@B)6 (© 4
(C) 4 (D) 14
(D) 14
20 SET-02
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(A)

(B) @ (B)

® - B

(D)

T0as6d

(D)

QI0T Which answer figure will complete the Q101 3 SRR AP wET ArHhy 3 Yt

pattern in the question figure? B G HEA?
<
Ny
(=] = = =]

AT

© \ (D) © =

21

SET-02
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Q102 Which of the following answer figure
patterns can be combined to make the

question figure?

|

=

w B EHAH
@ B o B
© HE B
mcguﬁﬁﬁr

Q103 Which of the following cubes in the

answer figure CANNOT be made on the
basis of the unfolded cube in the question

figure?

=
; .-

e

oHH

(B) {\‘(

- |
(A)
"]
ey
©Jfe
Read the following information to

answer the given (Q104 to Q106)

questions.
Following are the conditions for becoming

a judge in a singing contest TV show.
A) The person should have won at least

one award in singing or music.

N\

o

(D)

NN

B) The person should have worked in

the music industry for at least 10 years.

SERIES-D

22

Q102 F=ifefaa 4 A #F @ SR B

Qe#aﬁmar@ham#a‘,%qaha

T Hanerr B?

- -

w P EBEH
® BB & H
o BE B

@q?mﬁﬂén

|

Q103 Swr ATHf § 5w 77 B yHT Ipha A

Pl BY B B AMR W E Al o
Hepar 87

X

L J
- T-
=1

SHoE

=X

1+ 10] @) {3

(A)

= =
© |0 Wl o O

fau Ty (Q104 ¥ Q106) WAl FT Iwv
Y B fay freafafea SaFe™ 9fev|

™ @ gfeifar & & & @ &1 99
97 &g Fr=feRaa I 8|
A) T 1 Ry § &9 P

T QREAR AT B
B) @fd A wifiq @ &7 # oA 9§ 31
10 9% P B fbar B

SET-02
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'I'hc pers
'SOn she
@c&sl 3 lan uld be

Ruages, Whle 1o speak

Howeve'r, in case Candidat,
other criteria EXCEPT. '

1) Babove; ifthe
this criteria thep, hi 0es NOT fulfil
kept on holq,

who fulfils aly

?_)”Eha-«bov_e; i.f the person does NOT faull
;1 t |s. crlter!a but fulfils a|| other criteria
then his application Will be kept on hold,

Basefi on these criteria and information
provided below, decide the course of

action in each case. You are NOT to
assume anything.

Q104 Person A is 40 years old and is willing to

donate 10% of his annual income to the
contest winner. He has won 3 awards in
his 15 years of experience in the music
industry and can speak in Hindi and
English only.

(A) Made a judge

(B)) NOT made a judge
) Application kept on hold

(D) Data inadequate

Q105 Person B is willing to donate 5% of his

annual income {0 the contest winner. He
has worked in the music industry for 30

years since he entered it in his teenage

"days. He can speak in Hindi, Egghhs:é
Tamil and his mother tongue. ! 02016
donated 37 lakh for flood rehef2 u|1 .
when his annual income was Z12 lakh.

"(A) Made a judge

judge
B) NOT madea)t
:C; Application kept on hold

@Data inadequate

SFRIES-D

23

C‘i) @ifds @ wn Qw3 murd andh
all

D) afXkl o1 3y aiffe s o1 a9 4
&1 10% ufernfoar & fasen & 29 &
fore duw g wifge

E) afda @ 35 99 9§ ®¥ 3 70
¥ A aftres T8 &N =’ |

Bifp, IR BB e B IHgan
= W wrest B gl FRar 2|

1) B SR, ok @fdd 371 arest &
qof 7€} Hvan B O 9D AL DY AR
% fore war Sre

2) D SR\ At @fdd =1 A9 Sia=hrer
W U grR N gl aif¥§E AR FT 50%
T A fRar & a1 99 3 W g &
ST | .

3) E 9w, afe «afdd 39 o & quf
T SR R Uy o W I @y qof
FAT 2 T Igar e fraw & fw
T G |

R Ry T 39 e 3k aHed @
IR R Td@ qMel § dridd) o Fv

W) 3" EB N I Y W HH AR
| |

Q104 @ A, 40 a§ @1 &, ae wifar &

fasin @1 A=l affs ama &1 10% <=
AT TR &) ToH e o ¥
AT 15 T8 B P | 3 EHR AW &
AR Haa ] iR e A A e €
LK) STST SR SY

(Bj TS 7 TR T

(C) @mdeq W famr fean Wiy

(D) 3fiFe AT &

Q105 af B Ue wftifie @ ok @ s

e A BT 5% TH T Dl TGS ¢ |
TR e R # i wa #
T T B e g 30 adl T P
Py 2 | 9% R, 37ISR, Al AR ST
AT 3 A B Fad § | ad 2016
=1 T1e vea @ frg 27 @ M U
o o S Afds o 212 o AR
(A) OO g ST

SET-02


http://www.prepp.in/

0aseq

Q106 Person C has won 5 aw
of experience in the m
had donated her entire
2017 for earthquake re

in English, frengh and Hindi.
Made a judge
(B) NOT made a judge

() Application kepton hold

(D) Data inadequate

Q107 Which o
patterns can complet

the question figure?

=

ah
_
)

ards in her 25 years
usic industry. She
annual income in
liet. She is fluent

f the following answer figure
e the series given in

=

SN .
©) (D)
¢ )

Q108 Which of the following answer figure
patterns can complete the series givenin
the question figure?

> I I =
o ocAD o
v v
aOv o ) DOV

©

0106 @fae C A T S
arpia A 5 YRIEHR O

e @ fere ad

Q107

Q

sy, B W anafera dra aad 8

(B)

§ arge) 25 a9 B
41 oA @y

2017 A aiffa = g@
giffe ot €1 & &) | 98 araon, Wy

feefafad
3'@;'%[ § A e m Tﬁltm

det gy
£ qadr 87

Pl e

D R§

(A) (B)

! i
© (D)
| @ <)

108 Freifarmaa 4 Q @ @ SaR PR
ted w Al # A TE A BTG
Y ThaT 87

D o

O oADO O

v v
(A) A O D] wf g8
o |0Y0| @ [P BV
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Q109 What is the minimum number of lines

Q110

. Q109 & g BfA a7 @ fory =gem fararh
required to make the given image? @RI B THA 27

XHX

A) 12 (B) 15 (A) 12 (B) 15

©) 14 @n (C) 14 JURE

:::-mi"” 's Placed on the line MN, then Q110 afX 7 <tfor a1 Year MN W <1 T &
hich of the answer figures is the right T N SR Impfy & arpfy A

miTror image of the given figure? e By &7

‘RJ

v

i G S

N oy

4 A F =
(A) (B) ‘ A | (B)
© ® e '
=z 4 V (N e
Q111 A piece of paper is folded and punched as QI W i ¥ Hry Ramg IR ) B
shown below in the question figures. From TS B wies IR T R w2 A
the given answer figures, indicate how it TE IR et @, g =¥ EL:|
will appear when opened. Wl W 9 I8 e R
b 1 l a ‘ 3
T
YT o A o [o axTo)
2 R £ b
N Pl (B) ) (B)
O i a® o NP o 4 m.
) 0 °c4n° VAR 2
°Bo:' an 02 4 abh p g Z g g
v N © |7 Y| (D)
© € ol @ l¢ars, 20NV o° 5 WP s)
25
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Q112 Arrange the following words as per their
order in an English dictionary and choose
the one that comes first.
refocus; refinery; reflexes; reflector

(A) refocus refinery
(C) reflector (D) reﬂ.exes

Q113 A series is given, with one word missing.
Choose the correct option from the given

ones that will complete the series.
Terrain, Intuitive, Venture, Rearrange, ?

(A) Gender @B))Virtual
(C) Strategy (D) Suspense

Q112 Fr=afafea okt o A <P >
FAGEAR W 3R IF Wl B g o
HEY gEet IHTYT |
refocus; refinery; reflexes; reflector
(A) refocus (Bj refinery
(C) reflector (D) reflexes

Q113 & 7 oft § v vm g@ 81 Ry Iy
frpedt 3§ & s Ree gRw o A
& gof Fwal B
Terrain, Intuitive, Venture, Rearrange, ?
(A) Gender (B) Virtual
(C) Strategy (D) Suspense
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QU4 Fratdfua ww Wy e Rasey Ry g @

f%h!'\ *‘ awY ta\b\.\‘ Wl aa9 '“Q \ih ‘aq
NRI

VR B W) aregy - '
7
m\l’\‘“ gl S

C\*:)W B WY are
P9 (B)
(©) Rigem (D) ﬁ

Q115 mmﬁwﬁmﬁqmg

1 & 1o v Ry g e o

meﬁlquﬁ;ﬁ,
DD

(@) s

(B) =&
(©) [raq

(D) &=

Q116 FmifoRac wea % wm fwet 4 9,
XG@iféd ug @ Sfia sre 3 vwmhn |
EISE R e
(A) TR RS (B) ARERY HRS
(C) ¥ ad $R& (D) &1 NS

Q117 frfafea & ¥, ar R 7 9
fpar o7 e B9 AN fAbed TEEH |
et aw Ui e | (@ -
AT A P
(A) ¥ 3 TE

HINDI

QU9 Frafafaa ye g fawe 4 |4 39
faeq &1 gy ®¥ SN fav 1o v F;
& ENfein aren fQwea §)

@ e

(C) &

(B) g4
(D) &R
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